o] 3x+ 2y -5 o thote] 9] Het=a, x A Alee b, TS
cH W, a+b+c o w22

®-2 @-1 ®0 @ ® 2

T e 3 el
x O] A= 3 ol
&2 -5 ot

“a+b+c=3+3-5=1




o x o g A4 20— 5 & Hho}
5x -7 0] Egltk. 7 ALTE A7

©X+3 @ 10x-12
@—3x—|—2 @_x+5

@ 3x-2

B

olH A : A
A=5x-T-(2x-5)=3x-2
S (3x-2)-(2x-5)=x+3

bx—7-2(2x-5)=x+3




=

ol

I

—_—

© @ol 1 7182

© ax+b(a,b=

.

._“_.u
]

-

._"_.u
P

3x OFt
F: x+ 1% 2
D 2x+1

Q) :




1
6

-

ul

— |
e
— |
— | |
+(
R+
0N e
— | ©
|
— e Iy +
=




[ 2
> HE 8x+60

6(;x—2) [ J=x-72
6x§x+6x(—2)—::x—72

9x-12-[  |=x-72
L ] =x-12-(x-72)

=9x—-12—-x+72=8x+60




Forgtg o, x o] At

)& A

5)-(

99

-

ul

)

1
9
) x (-9)

11
3

8, 11
L 8 . 1
93

1
3

=-3x+8-33




7.

x O 20l 4 S ET AL A, x o 3ulolH 5 S WAL Bt P
o, % - L 8 x AR 0UE Aoz el n Uk §2 RS
REREY,
7 41
®© -x+2 @ -x+9 @—2—0x+2—0
1
@—Ex—i—Q ® —-Tx+41

B

A=2x+4, B=3x-59°|2&,
A B 2x+4 3x-5

4 5 1 4 )
=—x+1--x+1
% )
= —x 2x—l—l—i—l
101 10




F) = o] 2Rt 3 @HE 2 HE e
ahw?

e
&
iu)
o
)

21(A) - {£(=2) + F(A)} x2

@2 @ A+1 ® -24+3
@ 4 ® 24-1

~&B

f(x) Ex 2B} 3 g & FolB2
f(A)=2A43,f(-2)=2x(-2)+3=-1
2f(A) = {f(=2) + f(A)} x 2
=2(2A4+3)-(-1+2A+3)x2

=4A 46— (-2+4A +6)
=4A+6+2-4A-6

=2




5 20 ny ol Aol () = 52 ek HeIR ol f(ab) =
A, f(2a,b) & -t}

>
.19
> zg: 2
flab) = 222 =% o

16a — 12b = 10a — 5b 9| B2 6a = Tb, b = ga

8g 18a 38a
8a —3b 7 7 19
fRab) == 6 22 11

4g — — 22
4= a -4




=173

720—a-b-c)
10a + 9b + 8¢ + 7(20—a— b —¢)

146

20

)

20

10 X a = 10a
o 3+2+1+4140
’ 20

88X c =28
3l
=

3a+2b+c+1?1%

7.3
23

=
S|

=
]

A

AR

&
A%z eRelet,

)
)

o] =
= a, b, cEAF
o
=
[ =t 3
=
BE

SH
=1

(

a T T K
R0 OB R B
0 mo Sy

roomH A A

S
—



